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AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;01

									         	 gFjp - A
vy;yh tpdhf;fSf;Fk; tpil vjph;ghu;f;fg;gLfpd;wJ			         

nkhj;jk; 20 Gs;spfs;

Kjyhk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

njhlu;Gilik 

epjpj;jfty;fs; gad;ghl;lhsu;fs; vLf;Fk; jPu;khdq;fspy; NtWghLfis Vw;gLj;Jk; jd;ik 

nfhz;lit. rpy gad;ghl;lhsu;fs; ,tw;iw gad;gLj;jhtpl;lhYk; $l Vw;fdNt vLf;fg;gl;l 

jPu;khdq;fspy; ,Ue;j Mjhuq;fis gad;gLj;jpAk; Gjpa jPu;khdq;fis Nkw;nfhs;s KbAk;. 

NkYk; epjp mwpf;iffis gad;gLj;Jk; jug;gpdu; tpahghuk; , nghUshjhuk; njhlu;gpy; 

ed;fwpe;jtu;fshfTk; Gjpa tplaq;fis mwpe;Jnfhs;tjpy; Mu;tj;JlDk; fhzg;gLfpd;wdu;.

ek;gpf;ifahd ntspg;gLj;jy;fs;

epjp mwpf;iffs; nrhw;fs; kw;Wk; vz;fspd; %yk; nghUshjhu epfo;Tfis ntspf;fhl;Lfpd;wd. 

gaDs;s epjpj;jfty;fs; mit njhlu;Gila epfo;Tfis kl;LNk Fwpg;gpl Ntz;Lk;. Mit 

ntspg;gLj;Jk; jfty;fspd; mbg;gilapy; epfo;Tfs; cz;ikahdjhfTk; ,Uf;fNtz;Lk;. 

gpd;tUk; %d;W mk;rq;fis mit nfhz;bUf;Fk;.

	 - KOikahdjhf ,Uj;jy;

	 - eLepiyahdjhf ,Uj;jy;

	 - gpiofspy; ,Ue;J tpLgl;bUj;jy;					               (05 Gs;spfs;)

,uz;lhk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

	 tup mikg;G 		  =	 5,000,000 - 3,000,000		  =	 2,000,000

	 nfhz;Lnry;Yk; ngWkjp -   2,500,000

(a) 	 jw;fhypf NtWghL 	 =	 2,500,000 - 2,000,000		  =	 500,000

(02 Gs;spfs;)

(b)	 gpw;Nghlg;;gl;l		  =	 500,000 x 28%			   =	 140,000

	 tupg;nghWg;G							       (03 Gs;spfs;)

(nkhj;jk; 05 Gs;spfs;)

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA3 guPl;ir – [dtup 2018
(AA31) epjpf; fzf;fPLk; mwpf;ifaplYk;;

gupe;Jiuf;fg;gl;l tpilfs;



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;02

%d;whk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

(a)	 -	 epjp%yjd toq;Fdu;fSf;F toq;Fk; jfty;fspd; juj;jpid mjpfupg;gjDhlhf 

nraw;wpwDk; tpisjpwd; kpf;fJkhd Nkyjpf %yjdj;ij toq;fnra;jy;.

	 -	 epWtdj;jpd; mwpf;ifaply; nraw;ghl;bd;NghJ cWjpahdJk; nraw;wpwd; kpf;fJkhd 

jfty;fis toq;FtjDhlhf epWtdj;jpd; juj;jpid mjpfupf;f nra;jy;.

	 -	 FWfpa eLj;ju kw;Wk; ePz;lfhy mbg;gilapy; Nkw;nfhs;sg;gLk; jPu;khdnkLj;jy;fSf;F 

Mjutspj;jy;.

(02 Gs;spfs;)

(b)	 1.	 epWtdj;jpd; kPjhd nghJg;ghu;itAk; Gwr;#oYk;

	 2.	 tzpf khjpup

	 3.	 %yjd Kfhikj;Jtk;

	 4.	 gq;Fjhuu;fSldhd cwT

	 5.	 je;jpNuhgha kw;Wk; tsxJf;fPL
	 6.	 ntspg;ghu;it
	 7.	 ,lu;Kfhikj;JtKk; cs;sf fl;Lg;ghLk; 

					               (03 Gs;spfs;)

(nkhj;jk; 05 Gs;spfs;)

ehd;fhk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

		                                          fhRg;gha;T $w;wpd; gpupj;njLg;G   	(&gh. ’000)
	 KjyPl;Lnraw;ghLfspd; %ykhd fhRg;gha;r;ry;:
		  mfw;wypd; Nghjhd tpw;gidfs; (nra;if 01)		  750
		  nrhj;Jf;fs; nfhs;tdT [3,000 - (2,500 - 1,000)]		  (1,500)

(nra;if 01) nghwp mfw;wy;		  (&gh. ’000)
	 fpuak;	 1,000	 Nja;T (nra;if 02)	 750
	 ,yhgel;lk;	 500	 tpw;gid	 750
			   1,500		  1,500

(nra;if 02)		  (&gh. ’000)
	 fopf;fg;gl;l nkhj;j ngWkhdNja;T		  1,250
	 Kd;ida nghwpf;fhd Nja;T (2,000 - 1,500)		  (500)
	 mfw;wg;gl;l nghwpf;fhd Nja;T		  750

(05 Gs;spfs;)

gpupT  A  ,d; epiwT



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;03

Ie;jhk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

(a)	 - nrythf jhf;fy; nra;ag;gl;l njhif
		  Muha;r;rp nryTfs;	 =	 3,000,000
		  Copau; gapw;rp nryTfs;	 =	 300,000
		  tpw;gid Nkk;gLj;jy; nryTfs;	=	 50,000
			   =	 3,350,000

	 - mUtr;nrhj;jhf %yjdg;gLj;jpa njhif

		  jdpAupik fl;lzk;*	 =	 25,000
		  njhopw;rhu; fl;lzq;fs;	 =	 250,000
		  mUtr;nrhj;J	 =	 275,000

	 * jdpAupik %yg;nghUl;fSf;fhdJ

(06 Gs;spfs;)

(b)	 tl;b (20,000 x 15% x 11/12)	 =	 2,750,000
	 KjyPl;L tUkhdk;	 =	 (300,000)
	 %yjdkhf;fg;glNtz;ba njhif	 =	 2,450,000

							       (04 Gs;spfs;)  
(nkhj;jk; 10 Gs;spfs;)

Mwhk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

		  DM	 MM

nkhj;j ,yhg tpfpjk; 	 =	 (8,350 / 28,750) x 100

	 =	 29%	 30%

DM cld; xg;gpLk;NghJ nkhj;j ,yhg tpfpjj;jpy; Slight mjpfupg;G Vw;gl;Ls;sJ. 

,t;tjpfupg;gpw;fhd fhuzk; tpw;gid mjpfupg;igAk; tpw;gidf;fpuaj;jpy; Vw;gl;l 

FiwitAk; nfhs;syhk;

										           gFjp - B
vy;yh tpdhf;fSf;Fk; tpilaspf;fg;gly; Ntz;Lk;

(nkhj;jk; 30 Gs;spfs;)



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;

		  DM	 MM

Njwpa ,yhg tpfpjk;	 =	 (5,220 / 28,750) x 100

	 =	 18.16%	 25%

,q;F DM epWtdj;ij tpl MM epWtdj;jpd; Njwpa ,yhg tpfpjk; rpwpjsT mjpfupg;G 

Vw;gl;Ls;sJ. Njwpa ,yhg tpfpj mjpfupg;G tPjk; 7% MFk;. epu;thfr;nryTfs; kw;Wk; 

tpw;gid tpepNahf nryTfs;> epjpr;nryTfspy; Vw;gl;l FiwT ,jw;fhd fhuzkhf 

,Uf;fyhk;. 

		  DM	 MM

%yjdj;jpd; kPjhd jpUk;gy; tPjk;	 =	 (5,220 / 22,030) x 100

(ROCE)	 =	 24%	 32.64%

DM cld; xg;gpLk;NghJ MM  cau;e;jstpyhd Njwpa ,yhg tpfpjj;ij nfhz;bUe;jijg;Nghy 

%yjdj;jpd; kPjhd jpUk;gy; tPjj;jpYk; MM epWtdk; DM epWtdj;ij tpl cau;ngWkjpia 

nfhz;Ls;sJ. MM epWtdj;jpd; cau;e;jstpyhd Njwpa ,yhg tpfpjNk mjd; %yjdj;jpd; 

kPjhd jpUk;gy; tPjk; cau;thf ,Ug;gjw;fhd fhuzkhFk;. xl;Lnkhj;jkhf cau;e;jstpyhd 

,yhgj;jd;ikia MM epWtdk; DM epWtdj;ijf;fhl;bYk; ntspf;fhl;Lfpd;wJ.

		  DM	 MM

jputr;nrhj;J tpfpjk; 	 =	 (10,470 -5,240) / 3,200

	 =	 1.63 : 1  	 2.08 : 1

jputr;nrhj;J tpfpjk; DM epWtdj;ij tpl MM epWtdk; mjpfkhf nfhz;Ls;sJ.

mjpfsthd fld;gl;Nlhiu MM epWtdk; nfhz;bUj;jy; ,jw;fhd fhuzkhf $wyhk;.

Vw;Wf;nfhs;sf;$ba jputr;nrhj;J tpfpjk; 1:1 MFk;. MfNt ,U epWtdq;fSk; jputnrhj;J 

tpfpjj;jpy; tpUj;jpaila Ntz;Lk;.

		  DM	 MM

fld;gl;Nlhu; Nrfupg;G fhyk	 =	 (2,840 / 20,125) x 365

	 =	 52 ehl;fs;	 60 ehl;fs;

MM epWtdj;jpd; fld;gl;Nlhu; Nrfupg;G fhyk; mjpfkhf cs;sJ> tpw;gidapy; Vw;gl;l 

mjpfupg;ig fld;gl;Nlhu; Nrfupg;G fhyj;jpy; Vw;gl;l mjpfupg;gpw;F fhuzkhf nfhs;syhk;. 

Mj;Jld; me;epWtdk; cau;e;j ,yhgj;ij milaKbAk;.

			     (10 Gs;spfs;)

04



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;05

Vohk; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

tiuaWf;fg;gl;l ABC fk;gdp

31.03.2017 ,y; Kbtile;j Mz;Lf;fhd fhRg;gha;r;ry; $w;W

(&gh. ’000)

nraw;ghl;L eltbf;iffspd; %ykhd Njwpa fhRg;gha;r;ry;

tupf;F Kd;duhd Njwpa ,yhgk; (1,900 + 600)		  2,500

	 Nja;T		  500

	 tl;b nrytpdq;fs;		  380

			   3,380

tUkhd tup nrYj;jpaJ (nra;if 01)		  (550)

			   2,830

njhopw;gL %yjdj;jpy; Vw;gl;Ls;s khw;wq;fs;

	 (FiwT)      ,Ug;G	 500

	 (mjpfupg;G) fld;gl;Nlhu; kw;Wk; tUkjpfs; 	 (2,940)

	 (FiwT) fld;nfhLj;Njhu; kw;Wk; nrd;kjpfs;	 (640)	 (3,080)

nraw;ghl;L eltbf;iffspd; %ykhd Njwpa fhRg;gha;r;ry;		  (250)

epjp eltbf;iffs;

	 fld; kPs nrYj;jpaJ	 (900)

	 tl;b nrYj;jpaJ	 (400)

	 kPl;ff;$ba Kd;Dupik gq;F toq;fy;	 1,500	

	 epjp eltbf;iffspy; Njwpa fhRg;gha;r;ry;		  (200)

KjyPl;L eltbf;iffs;		

	 fhR kw;Wk; fhRf;F rkdhdtw;wpy; Vw;gl;l khw;wq;fs;		  (50)

	 01.04.2016 ,y; fhRk; fhRf;F rkdhditAk;		  300

31.03.2017 ,y; cs;sthwhd fhR kw;Wk; fhRf;F rkdhdit		  250



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;

nra;iffs;

nra;if 01

	
tUkhd tup f/F

	 fhR		 550	 kP/nfh/t	 200
	 kP/nfh/nr	 250	 ,yhgel;l f/F	 600
			   800		  800

nra;if 02	
Tl;b f/F

	 fhR		 400	 kP/nfh/t	 60
	 kP/nfh/nr	 40	 ,yhgel;l f/F	 380
			   440		  440

(nkhj;jk; 10 Gs;spfs;)

06

gpupT  B  ,d; epiwT



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;

										          gFjp - C

,g;gFjpapd; ,U tpdhf;fSf;Fk; tpilaspf;fg;gly; Ntz;Lk;.

(nkhj;jk; 50 Gs;spfs;)

8k; tpdhf;fSf;fhd tpje;Jiuf;fg;gl;l tpilfs;

(a)

f[gh epWtdk; 

31.03.2017 ,y; Kb;e;j Mz;Lf;fhd Kw;wlf;f tUkhdf;$w;W

			   (&gh. ’000)

	 tpw;gidfs; (160,000 - 1,200)		  158,800

	 tpw;gidf;fpuak;  (107,000 + 125)		  (107,125)

	 nkhj;j ,yhgk;		  51,675

	 Vida tUkhdq;fs;:

		  nghwp ,ae;jpu mfw;wy; ,yhgk; (nra;if 01)	 768.75

		  gjptopj;j mwtplKbahf;fld; Vw;ghL (nra;if 06)	 855	 1,623.75

				    53,298.75

	 nryTfs;:

		  tpepNahfk; (nra;if 04)	 20,546.25

		  epu;thfk;   (nra;if 03)	 12,220	 32,766.25

				    20,532.50

	 epjp nryTfs;		  (6,100)

				    14,432.50

	 tupf;F Kd;du; ,yhgk;:

		  tup  (nra;if 07)		  (3,500)

	 tupf;F gpd;du; ,yhgk;		  10,932.25

	 Vida Kw;wlf;f tUkhdk;

		  fl;bl kPs;kjpg;G		  2,000

	 nkhj;j Kw;wlf;f tUkhdk;		  12,932.50

(10 Gs;spfs;)

07



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;08

(b)

tiuaWj;j f[gh fk;gdp

31.03.2017 ,y; cs;sthwhd epjpepiyf;$w;W

		  (&gh. ’000)

nrhj;Jf;fs;

eilKiway;yh nrhj;Jf;fs;

fl;blk; nghwp ,ae;jpu cgfuzq;fs;			   30,662.50

				  

eilKiw nrhj;Jf;fs;

	 ,Ug;G		  9,375

	 tpahghu tUkjp (11,000 - 100)	 10,900

	 (fop) Kw;gz tUkjpfs;	 (545)	 10,355

	 tq;fpkPjp		  3,000

	 fhRkPjp		  200	 22,930

nkhj;j nrhj;Jf;fs;			   53,592.50

cupikAk; nghWg;Gf;fSk;

	 $wg;gl;l %yjdk;		  20,000

	 Jf;fitj;j tUkhdq;fs;		  15,432.50

	 kPs;kjpg;G xJf;fk;		  2,000	 37,432.50

eilKiway;yh nghWg;Gf;fs;

	 kPl;fj;jf;f Kd;Dupik gq;Ffs;		  5,000

	 tq;fpf;fld;		  1,500	 6,500

eilKiw nghWg;Gf;fs;

	 tq;fpf;fld;		  1,500

	 tpahghu nrd;kjpfs;		  6,000

	 nrYj;jNtz;batup		  1,900

	 ml;LW nryTfs;		  260	 9,660

			   	 53,592.50

(07 Gs;spfs;)



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;09

(c)

f[gh epWtdk; 

31.03.2017 ,y; Kb;e;j Mz;Lf;fhd cupik mirTf;$w;W

		  rhjhuz 	 kPs;kjpg;G	 jf;fitj;j	 nkhj;jk;

		  gq;Ffs;	 xJf;fk	 tUkhdq;fs;

	 01.04.16 ,y; Muk;g kPjp	 20,000	 -	 6,500	 26,500

	 fl;bl kPs;kjpg;gPL	 -	 2,000	 -	 2,000

	 tUlj;jpw;fhd ,yhgk;	 -	 -	 10,932.50	 10,932.50

	 ,ilf;fhy gq;fPLfs;	 -	 -	 (2,000)	 (2,000)

		  20,000	 2,000	 15,432.50	 37,432.50

epjpf;$w;Wf;fSf;fhd Fwpg;Gfs;

31.03.2017 ,y; itj;jpUf;Fk; xt;nthU rhjhuz gq;fpw;Fk; ,Wjp gq;fPlhf &gh 01 I nrYj;j 

jPu;khdpj;Js;sJ.

(03 Gs;spfs;)

(d)

tpguk; epyk; fl;blk; Nkh 

thfdk;

mYtyf 

cgfuzk;

nkhj;jk;

fpuak;:

01.04.16 Knfht kPjp 20,000 5,000 15,000 4,000 44,000

mfw;wy; - - (2,300) - (2,300)

kPs;kjpg;gPL - 2,000 - - 2,000

31.03.2017 ,y; kPjp 20,000 7,000 12,700 4,000 43,700

ngWkhdj; Nja;T

01.04.16 ,y; kPjp - 2,000 6,000 2,600 10,600

tUlj;jpw;fhd 

ngWkhdj;Nja;T

(nra;if 02)

- 200 3,606.25 500 4,306.25

mfw;wy; - - (1,868.75) - (1,868.75)

31.03.17 ,y; kPjp - 2,200 7,737.50 3,100 13,037.50

31.03.17 ,y; fhtpr;nry;Yk; 

ngWkjp

20,000 4,800 4,962.50 900 30,662.50

(05 Gs;spfs;)

(nkhj;jk; 25 Gs;spfs;)



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;10

nra;iffs; 

nra;if 01 				      mfw;wy; f/F
	 fpuak;	 2,300	 fhR	 1,200
	 ,yhgel;lk;	 768.75	 Nja;T	 1,868.75
			   3,068.75		  3,068.75

nra;if 02 tUlj;jpw;fhd ngWkhdj;Nja;T

	 Nkhl;lhu; thfd mfw;wy;	 431.25
	 kPjp		 3,175
			   3,606.25

mfw;wg;gl;l thfdj;jpd; kPjhd ngWkhdj;Nja;T  

(2,300 / 4) x 3  3/12	 =  1,868.75

nra;if 03 	 epu;thf nryTfs;

	 guPl;ir kPjp	 11,460
	 Nja;T - fl;blk;	 200
	              mYtyf cgfuzk;	 500
	 ml;LW njhiyNgrp , kpd;	 60
			   12,220

nra;if 04 	 tpepNahf nryTfs; 
	 guPl;ir kPjp	 16,740
	 Nja;T – Nkhl;lhu; thfdk;	 3,606.25
	 ml;LW tpsk;gu fl;lzk;	 200
			   20,546.25

nra;if 05	 epjpr;nryTfs;

	 guPl;ir kPjp	 5,600
	 kPl;ff;$ba gq;FfSf;fhd gq;fpyhgq;fs;	 500
			   6,100

nra;if 06	                               tpahghu tUkjpfSf;fhd Kw;gzk;

	 mwtplKbahf;fld;	 100	 K/nfh/t	 1,500
	 ,yhgel;lk;	 855
	 K/nfh/nr	 545
			   1,500		  1,500

nra;if 07	                                            tUkhdtup f/F
	 fhR		 2,000	 K/nfh/t	 400
	 Knfhnr	 1,900	 ,yhgel;lk;	 3,500
			   3,900		  3,900



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;11

9k; tpdhTf;fhd tpje;Jiuf;fg;gl;l tpilfs;

(A)
(a)	 Ed;kjpg;G fzpg;G

	 Njhw;Wdu;fspd; KjyPL 	 =	 12,000
	 fl;Lg;gLj;jKbahj tl;b	 =	 3,000
		  =		  15,000

	 fop: Njwpa nrhj;Jf;fspd; cz;ikg;ngWkjp

	 $wg;gl;l %yjdk;	 =	 7,000
	 nghJ xJf;fk;	 =	 1,800
	 jf;fitj;j tUkhdk;	 =	 2,000	 (10,800)
	 ed;kjpg;G	 =		  4,200

(05 Gs;spfs;)

(b)
tiuaWf;fg;gl;l nfKD jdpahu; epWtdk; 

31.03.2017 ,y; Kbe;j Mz;Lf;fhd $l;bizf;fg;gl;l Kw;wlf;f tUkhd$w;W

(&gh. ’000)

	 tpw;gid (250,000 + 110,000 - 2,000)		  358,000

	 tpw;gidf;fpuak; (140,000 + 72,000 - 2,000 + 100)		  (210,100)

	 nkhj;j ,yhgk;		  147,900

	 Vida tUkhdq;fs;:

		  tl;b tUkhdk (800 + 250 - 600)	 450

		  gq;fpyhg tUkhdk (1,600 + 45 - 500)	 1,145

		  Vida tUkhdk; (1,550 - 600 - 400)	 550	 2,145

				    150,045

	 nryTfs;:

		  tpepNahfk; (40,000 + 13,500)	 (53,500)

		  epu;thfk; (10,000 + 3,000 - 600)	 (12,400)

		  epjp (8,000 + 2,000 - 600)	 (9,400)	 (75,300)

		  tupf;F Kd;duhd ,yhgk;		  74,745

		  tUkhd tup (14,500 + 2,000)		  (16,500)

	 tUlj;jpw;fhd ,yhgk;		  58,245

(14 Gs;spfs;)



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;12

(B)	 rhj;jpakhd fhuzq;fs; 

1.	  eilKiw tpfpjk;

-	 fld;fhyj;jpy; Vw;gLj;jg;gl;l Fiwg;G

-	 ,Ug;G ifapUg;gpy; Vw;gl;l FiwT

-	 fld;nfhLeuhy; mjpfupf;fg;gl;l fld;fhyk;

2.	  fld;gl;Nlhu; Nrfupg;G fhyk; 

-	 fld; tpw;gidapy; Vw;gl;l tPo;r;rp

-	 tpw;gidia mjpfupg;gjw;fhf fld; Nrfupg;G fhyj;jpy; Vw;gLj;jpa mjpfupg;G

3.	 ,Ug;G itj;jpUj;jy; fhyk;

-	 tpiuthf tpw;gidahfhj ,Ug;Gf;fs;

-	 ,Ug;G itj;jpUj;jy; fhyj;jpy; Vw;gl;l mjpfupg;G

(06 Gs;spfs;)

(nkhj;jk; 25 Gs;spfs;)

gpupT  C ,d; epiwT



AA3 / FAR epjpf; fzf;fPLk; mwpf;ifaplYk;

Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designed especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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